28

400-811-5568

HGR3!
EEETRIR R

2-1-9 HERIIR T BBR YR

(1) HGH-CA / HGH-HA

4-Mxl

™
1

T

T

HEHERT

(mm)

Eitll

HH N WB
HGH15CA 28 43 9.5 34 26
HGH 20CA

30 4.6 12 44 32
HGH 20HA
HGH 25CA

40 5.5 125 48 35
HGH 25HA
HGH 30CA

45 6 16 60 40
HGH 30HA
HGH 35CA

55 75 18 70 50
HGH 35HA
HGH 45CA

70 9.5 20.5 86 60
HGH 45HA
HGH 55CA

80 13 23.5 100 75
HGH 55HA
HGH 65CA

90 15 31.5 126 76
HGH 65HA

5t 1kgf=9.81N

6.5

25

o o 1
& @
) D Ii
G L
K2 L1
Cc
oD - i 7]
‘ ‘ @ LL @ ju ‘
Je L] ‘
S
T ! P
| -
E
E
M
MR MP Y
— + +
=
B Py
BEN EBEEX EX sosris =
N N - BETE %6 B8
BERRT (mm) BERT (mm) EE%R B BE
BRRY E&8E Ea8F
Me M. M, JBIR B8
C L L K K G M T H Hi WoHy D h d P E (mm) CIkN] CylkN
1 1 2 2 3 Wi Rg ( J (kNJ' Cy (kN) kN-m kN-m kN-m kg kg/m
26 394 614 10 485 53 Mix5 6 795 77 15 15 75 53 45 60 20 Mixl6 11.38 1697 012 010 010 018 1.45
36 505 775 12.25 1775 2776 027 020 020 0.30
6 12 M5x6 8 6 6 2017595 85 6 60 20 Moxlé 2.21
50 652 922 12.6 21.18 3590 0.35 0.35 035 0.39
35 58 84 16.8 26.48 36.49  0.42 0.33 033 0.51
6 12 Méx8 8 10 9 23 22 11 9 7 60 20 Méx20 3.21
50 78.6 104.6 19.6 3275 4946 056 057 057 0.69
40 70 97.4 20.25 38.74 5219  0.66 0.53 053 0.88
6 12 M8xI10 85 95 138 28 26 14 12 9 80 20 M8x25 447
60 93 120.4 21.75 47.27 69.16 088 0.92 092 116
50 80 112.4 206 4952 6916 116 081 081 145
712 M8x12 10.2 16 19.6 34 29 14 12 9 80 20 M8x25 6.30
72 105.8 138.2 22.5 6021 9163 154 140 140 192
60 97 1394 23 77.57 10271 198 855} 155 273
10 129 M10x17 16 185305 45 38 20 17 14 105225 M12x35 10.41
80 128.8 171.2 289 9454 13646 263 268 268 3.1
75 117.7 166.7 27.35 N4.46 14833 369 264 264 417
11129 MI2x1817.5 22 29 53 44 23 20 16 120 30 M14x45 15.08
95 155.8 204.8 36.4 139.35 196.20 4.88 457 457  5.49
70 144.2 200.2 43.1 163.63 21533 665 427 427 7.00
14 129 M16x20 25 15 15 63 53 26 22 18 150 35 M16x50 2118
120 203.6 259.6 47.8 20836 30313 938 738 738 9.82



400-811-5568 29

- K

(2) HGL-CA / HGL-HA O 6] )

BN EE EE s -
Ry BIRRY (mm) BURT (ol EER mm mm oo EE
s BRY T8E FaE

My M. M, B B

HH NWIBB C L L K K, G Mx= T H, HHWzeH; D h d P E C(kN) C, (kN
1 1 1 4 2 X 2 My We Hg (mm] (kN) Gy ]kN-mkN—mkN—m kg kg/m

HGL15CA 24 43 95 34 26 4 26 394 614 10 485 53 Mixs 6 395 37 15

5 75 53 45 60 20 Méx16  11.38 16.97 012 010 010 014 145

HGL 25CA 35 58 84 157 26.48 3649 042 033 033 042

36 55 125 48 35 6.5 6 12 Méx6 8 5 5 23 22 11 9 7 60 20 Méx20 3.21
HGL 25HA 50 78.6 104.6 185 3275 4944 056 057 057 0.57
HGL 30CA 40 70 974 20.25 3874 5219 066 053 053 0.78

42 6 16 60 40 10 6 12 M8x10 85 65 108 28 26 14 12 9 80 20 M8x25 447
HGL 30HA 60 93 120.4 21.75 4727 6916 088 092 092 1.03
HGL 35CA 50 80 112.4 20.6 4952 6916 116 081 081 114

48 75 18 70 50 10 7 12 M8x12 10.2 9 126 34 29 14 12 9 80 20 M8x25 6.30
HGL 35HA 72 105.8 138.2 22.5 60.21 9163 154 140 140 152
HGL 45CA 60 97 1394 23 7757 10271 198 155 155 2.08

60 9.5 205 86 60 13 10 129 M10x17 16 8.5 205 45 38 20 17 14 105 22.5 M12x35 10.41
HGL 45HA 80 128.8 171.2 28.9 9454 13646 263 268 268 275
HGL 55CA 75 117.7 166.7 27.35 Mb4.46 14833  3.69 264 264 3.25

70 13 235100 75 12.5 11129 M12x18 175 12 19 53 44 23 20 16 120 30 M14x45 15.08
HGL 55HA 95 155.8 204.8 36.4 139.35 196.20 488 457 457 4.27

5. 1kgf=9.81N



30

400-811-5568

HGR3!
EEETRIR R

(3) HGW-CA / HGW-HA

Ki

& &
6 L
w KZ L1
B B c
4-M B r—w
~ ‘ i
N . T
T l T a
;"L H;;@}) @ L oD Ho ik Ak NIE
i i | ; A ‘
T | _:l ! —
- ,‘J‘ -3 1 o ] [ ]
:':_ I I ) I 7\ :_J :
I
N We ‘ @d
‘ E P E
My
MR Mp m
5 HSAhrdde=e =H—I=
+ £
BIH BEX EAF [ =
1R \ \ ' BB 8
feteRs BRRY (mm) BORT Il EEE DE BE
7 BRY EE8fE T8
M. M, M, B B
HH NWBGB C L L K K 6 M T T, H H, WeHy, D h d P E (mm) CkN) CykN
! ! ! N B e e (mm] - ClkN). ColkN) kN-m kN-mkN-m kg kg/m
HGW 15CA 24 43 16 47 38 45 30 394 614 8 485 53 M5 6 89 395 37 15 15 75 53 45 60 20 Mix16 11.38  16.97 012 0.10 0.0 047 1.45
HGW 20CA 505 775 10.25 1795 2776 027 020 0.20 0.40
30 4.6 215 63 53 5 40 6 12 M6 8 10 6 6 20 17595 85 6 60 20 Mb5x16 2.21
HGW 20HA 652 92.2 176 2118 3590 035 035 035 052
HGW 25CA 58 84 11.8 26.48  36.49 042 033 033 059
36 55 235 70 57 65 45 6 12 M8 8 14 6 5 23 22 11 9 7 60 20 Méx20 3.21
HGW 25HA 78.6 1046 22.1 3275 4944 056 057 057 0.80
HGW 30CA 70 974 14.25 3874 5219 066 053 053 1.09
42 6 31 90 72 9 52 6 12 M10 85 16 65 108 28 26 14 12 9 80 20 M8x25 447
HGW 30HA 93 120.4 25.75 4727  69.16 0.88 092 092 1.44
HGW 35CA 80 1124 14.6 4952 6916 116 081 081 156
48 75 33 100 82 9 62 7 12 MI0101 18 9 126 34 29 14 12 9 80 20 M8x25 6.30
HGW 35HA 105.8 138.2 275 6021 9163 154 140 140 2.06
HGW 45CA 97 139.4 13 77.57 102.71 198 155 155 279
60 95 375 120 100 10 80 10 129 M12 151 22 85 205 45 38 20 17 14 105 225 M12x35 10.41
HOW 45HA 128.8 171.2 289 9454 13646 263 268 2.68 3.69
HGW 55CA 117.7 166.7 17.35 1444 14833 369 264 264 452
70 13 435 140 116 12 95 1M 129 M4 175265 12 19 53 44 23 20 16 120 30 Mi4x45 15.08
HGW 55HA 155.8 204.8 36.4 139.35 19620 488 457 457 596
HGW 65CA 1442 200.2 231 16363 21533 665 427 427 917
90 15 535170 142 14 110 14 129 M16 25 375 15 15 63 53 26 22 18 150 35 M1éx50 2118
HOW 65HA 203.6 259.6 52.8 208.36 30313 938 738 738 12.89

S 1kgf=9.81N



400-811-5568 31

Ki

(4) HGW-CB / HGW-HB

@D i T

BN B BEA s .
ERRT (mm) BIRT (mm) EEE BE HE i L
BRY TEF Ea8H

HERY

(mm)

My M, M, BIR B#

HH NWBSB C L L K K G M TT T, H H WeH, D h d P E CIkN) Cy (kN
g 0 g 1| I e el el e (mm) CONI ColkNI kN kN-m kg kg/m

HGW15CB 24 43 16 47 38 45 30 394 614 8 485 53 @45 6 89 69539537 15 15 75 53 45 60 20 Mix1é 11.38 1697 012 010 010 017 1.45
HGW 20CB 50.5 775 10.25 1775 2776 027 020 0.20 0.40

30 4.6 215 63 53 5 40 6 12 @96 8 10 95 6 6 20 175 9585 6 60 20 Mb5xlé 2.21
HGW 20HB 65.2 922 176 2118 3590 035 035 0.35 0.52
HGW 25CB 58 84 118 26.48 3649 042 033 033 0.59

36 55 235 70 57 65 45 6 12 @7 8 14 10 6 5 23 22 11 9 7 60 20 Méx20 3.21
HGW 25HB 78.6 104.6 221 3275 49.44 056 057 0.57 0.80
HGW 30CB 70 97.4 14.25 3874 5219 066 053 0.53 1.09

42 6 31 90 72 9 52 6 12 @9 85 16 10 65 108 28 26 14 12 9 80 20 M8x25 4.47
HGW 30HB 93 120.4 25.75 4727 69.16 088 092 092 144
HGW 35CB 80 2.4 14.6 4952 6916 116 081 0.81 156

48 75 33 100 82 9 62 7 12 @9 101 18 13 9 126 34 29 14 12 9 80 20 M8x25 6.30
HGW 35HB 105.8 138.2 27.5 60.21 9163 154 140 140 2.06
HGW 45CB 97 1394 13 7757 10271 198 155 155 2.79

60 9.5 375120 100 10 80 10 129 @11 151 22 15 85 205 45 38 20 17 14 105 22.5 M12x35 10.41
HGW 45HB 128.8 171.2 28.9 94.54 136.46 2.63 268 2.68 3.69
HGW 55CB N7.7 166.7 17.35 M4.44 14833 3.69 264 2.64 452

70 13 435140 116 12 95 11 129 @14 175265 17 12 19 53 44 23 20 16 120 30 M14x45 15.08
HGW 55HB 155.8 204.8 36.4 139.35 19620 488 457 4.57 596
HGW 65CB 144.2 200.2 23.1 163.63 21533 6.65 427 427 9.7

90 15 53.5170 142 14 110 14 129 @16 25 375 23 15 15 63 53 26 22 18 150 35 M16x50 2118
HGW 65HB 203.6 259.6 52.8 208.36 303.13 938 7.38 7.38 12.89

5. 1kgf=9.81N



32

400-811-5568

HGZ S

K1
ALRIKERIE B
E%TEJ::/ iz /B @ a5
& &
G L
w Kz Ly
]
oD D [ ©
| ey [ Il
‘ ‘ ® : L Dy
.:J ‘ T
o
T ‘ — e
y | !
| == =
@d
E P E
My
M
Mg WPN S
! X —+
Ty dhtle =—i
> <
B BEX EX oesris =
# v N N - BETEE0%E B8
e BRRY (mm) BORY mml  EER BE BE
g BRY ©&8F T8
L N N
My M, M, BIR EHL
HH NWEBGB C L L K K 6 MTT T, H HWeH, D h d P E CIkN) C, (kN
* 0 g 1| N I Il sl R (mml - CONI ColkN) N kN-m kg kg/m
HGW15CC 24 43 16 47 38 45 30 394 614 8 485 53 M5 6 89 695395 37 15 15 75 53 45 60 20 Mix16 1138 1697 012 010 010 0417 1.45
HGW 20CC 50.5 77.5 10.25 17.75  27.76 027 020 0.20 0.40
30 4.6 215 63 53 5 40 6 12 M6 8 10 95 6 6 201759585 6 60 20 M5x16 2.21
HGW 20HC 65.2 922 17.6 2118  35.90 035 035 035 052
HGW 25CC 58 84 1.8 26.48  36.49 042 033 033 059
36 5.5 235 70 57 65 45 6 12 M8 8 14 10 6 5 23 22 11 9 7 60 20 Méx20 3.21
HGW 25HC 78.6 104.6 22.1 32.75  49.44 0.56 057 0.57 0.80
HGW 30CC 70 97.4 14.25 38.74 5219 0.66 053 053 1.09
42 6 31 90 72 9 52 6 12 M10 85 16 10 6.5 108 28 26 14 12 9 80 20 M8x25 447
HGW 30HC 93 120.4 25.75 4727 69.16 088 092 092 1.44
HGW 35CC 80 112.4 14.6 4952  69.16 116 081 081 156
48 75 33 100 82 9 62 7 12 M10101 18 13 9 126 34 29 14 12 9 80 20 M8x25 6.30
HGW 35HC 105.8 138.2 275 60.21  91.63 154 140 1.40 2.06
HGW 45CC 97 1394 13 77.57 10271 198 155 155 279
60 9.5 37.5 120 100 10 80 10 129 M12 151 22 15 85 205 45 38 20 17 14 105 22.5 M12x35 10.41
HGW 45HC 128.8 171.2 289 94.54 136.46 263 268 2.68 3.69
HGW55CC 117.7 166.7 17.35 1444 14833 369 264 2.64 452
70 13 43.5 140 116 12 95 11 129 M14 175265 17 12 19 53 44 23 20 16 120 30 M14x45 15.08
HGW 55HC 155.8 204.8 36.4 139.35 196.20 4.88 457 457 596
HGW 65CC 144.2 200.2 231 163.63 21533  6.65 427 427 917
90 15 53.5 170 142 14 110 14 129 M16 25 375 23 15 15 63 53 26 22 18 150 35 M16x50 2118
HGW 65HC 203.6 259.6 52.8 208.36 30313 9.38 738 738 12.89

5F:1kgf=9.81N



